MATHEMATICAL REASONING™ LEVEL B Algebra

Balance Benders™

If two orange squares weigh the same as one purple ball,
circle the number sentences below that are true.

=0

d. —

e. ='

f. g =

*For more activities like this, please see our Balance Benders™ series.
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MATHEMATICAL REASONING™ LEVEL B

Number and Operations

The numeral 33 comes
after 32.

2o
-4 -Z
\R
N_/\_/

Trace each numeral, then write the numeral

that comes after it.
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Number and Operations

MaTHEMATICAL REASONING™ LEVEL B
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MATHEMATICAL REASONING™ LEVEL B Number and Operations

Do the addition problems to find
each sum. Then write the matching
letter below to solve the riddle.

S a
23 37 53
+ 14 + 2 +
o e b o
18 21 16 25
+ 20 + 45/ + 43 + 64
S h r k
81 g 34 46
-+ -+ + 6 + 30
u t | d
62 54 6 8
+ + 37 + 21 +

How does a bird stop?

99 87 38 37 91 49 68 39 85 '—lO

59 74 69 76 89 97
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MaTHEMATICAL REASONING™ LEVEL B
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271

272

273
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276

q feet & feed U4 feet

5 feet U feet

3 feet 2 feet

6 feet 7 feet

26, 34; u5, 20, 13; 60, 26, U46; 13, 53, 11

27,149, 69,97; u8, 27,74,69; 19,uU2, 38,u449; 39, 7, 68, 18

1. week; 2. Wednesday; 3. Monday; 4. Tuesday & Wednesday;
5. end of the week. Answer will vary.

37,349, 74,97, 38, 68, 59, 849; 87,UuU49, 40, 76; 99, 91, 85, 69; uses the air brakes

........ ; Location will vary.

22,15, 61,495, 44, 21, 73,62, 17,42, 30, U3, 32, 25,60, 16

?
1.1&i@; Z.Eilil![; 3.¢,d

1321, 222310; 124217; 17 33 26
12123; 222131 11; 3211221, 121011; 2210120

1. music players; 2. The store sold the same number of toys and soccer balls.
3, $20; u. $uU5; 5. bicycles

|
7x
-

‘ ‘ ;7 X; UV WY; Answer will vary.

14, 25, 32, 24; 8, 16, 31, 21; 83, uU49, 14, 16; 31, 28, U3, U6; turn over a new leaf
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MaTHEMATICAL REASONING™ LEVEL B Answers
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omag / IAY ¢ @my mwEA
34; U531, 32 33; 55498; 66 98
83 67; 94 79; 7992; 4992; 99 66; 99 79; 99 39; 48 38; 66 76; 78 78

us NN

39

a9

a2

COANE SN @®-@; ® [ @& O®l©©

25¢; 6¢; 15¢
5331; 1211; 4242, 6017, 15U5; 27 14; 18 21, 33 41; 14 U2, 5538

38 55 42 1

40° 90°

The child could be hit by the car.

The bike could wreck if it hits the rocks.

The boy could slip and fall off the top of the ladder.
The babies could be harmed if the cleaning liquids spill.
The diver could hit the rocks below.

The bear could harm the boy.
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